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1) TRADE THEORY

Question No. 1/ Question ID 295 Marks: 2.00

What is the name of curve of the synchronous motor as shown in the figure?

e feramy SrTaR Righ 1 HIex & b 1AM T 62

Power factor
COs@

A

Unky p.f. lina |

|
|
|
|
|
|
|
|
|
|t Lagging -—:—- Leading -
1

GlokakiTi YouTube Ghannel

Unity p.f. lina |

|
|
|
|
|
|
|
|
|
— Lagging ll-—:—-u Leading —
1 — l!

FIELD GURRENT
(excitation)

| ELNYZME118

(A) O Load characteristics curve
s faRivdr 9

(B) O V'curve
V' déh

(C) O Inverse 'V’ curve (Correct Alternative) (Chosen Option)
b H 'V' deb (Correct Alternative) (Chosen Option)




(D) O No load characteristics curve

PIs s faRwdr g 8t

Question No. 2 / Question ID 453
What is the part name of the DC drive marked as 'X" shown in the figure?

fo 7 fgame U X' & = § RIfgd DC $189 & U &1 A1 &1 872

Marks: 2.00

ELHVINEIR

ELHVINEIR

(A) O Gland plate
s Wie
(B) © Terminal cover
$hdx
(C) O Main drive assembly (Correct Alternative) (Chosen Option)
H© glgd S qal (Correct Alternative) (Chosen Option)
(D) O keypad part
YT

Question No. 3 / Question ID 95

Fsre e & st Al 111 YouTube Channel

(A) O Removing of wedges (Correct Alternative) (Chosen Option)
oIl B @CIHl (Correct Alternative) (Chosen Option)

(B) O Cutting of winding wire
IS (ST AR BIeH]

(C) O Removing of winding

(D) O Cleaning of slots
il i

Marks: 2.00

Question No. 4 / Question ID 500
What is the type of over head line joint as show in the figure?
for 7 GRITT SR 3MaREE A SIS HT UHR FT 82

Marks: 2.00




s — ) = — Dy

s i == 4

(A) O Straight joint through connectors (Chosen Option)
Fded & HIgH § WY Gﬁ%’ (Chosen Option)
(B) O Straight sleeve joint
W) SR BT S
(C) O Battery Charging Circuit (Correct Alternative)
i1 |fdhe (Correct Alternative)
(D) O Twisted joint
SIS

Question No. 5/ Question ID 393 Marks: 2.00
Which is the correct sequence of operation of contactors for operating an automatic star delta starter?
T R Seel WIER & YATe o fofg Yudheh! & Tarad &1 Jal HH B 91 572
(A) O Star—Timer—Delta—Main

Star—Timer—Delta—Main
(B) O Main—Star—Delta—Timer
Main—Star—Delta—Timer

(C) O Star—Main—Timer—Delta (Correct Alternative) (Chosen Option)
Star—Main—Timer—Delta (Correct Alternative) (Chosen Option)

OO e Tmer—oio¥8al iTi YouTube Channel

Question No. 6 / Question ID 306 Marks: 2.00
What is the name of amplifier as shown in the figure?

o1 fob o A feaman T | TRl TR &1 A1 T 872




EL283122

o
:
(A) O Class AB push i J—
S o b RTHEAN iTi YouTube Channel
(B) O Common emitter amplifier
BT TfeR TR

(C) O Class B push pull amplifier (Correct Alternative) (Chosen Option)
FTg o gA g TWAIBIAR (Correct Alternative) (Chosen Option)
(D) ©O Common collector amplifier

P Hoidex THATHRR

Question No. 7 / Question ID 358
What is the name of the symbol as shown in the figure?

forr 7 g=ifE 7T vedtes o1 1 @ 82
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(A) O Diac
&%

(B) O N'channel FET (Correct Alternative) (Chosen Option)
N' 997e FET (Correct Alternative) (Chosen Option)

Marks: 2.00




(C) O Triac

(D) O P'channel FET
P' Id FET

Question No. 8 / Question ID 190 Marks: 2.00
Which type of starter is used to start and run the 3 phase slip ring induction motor?
3 ol &0 T S8R Hiex &1 Y& HRA 3R IaH o o g TR & wIeR H1 I9anT fohdm Srar 87
(A) O Rotor rheostat starter (Correct Alternative)
W (Correct Alternative)
(B) O Direct on-line starter
TI& 319 T3 WX
(C) © Manual star-delta starter (Chosen Option)
fl_je-iﬁ TR-SeT WX (Chosen Option)
(D) O Aeto transformer starter

TIHTHR TR

A~

Question No. 9 / Question ID 127 Marks: 2.00
What is the name of the test as shown in the figure?

o A femme ¢ uiequr &1 A a1 82
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(A) O Shorted commutator test (Correct Alternative) (Chosen Option)
ics WE’T qteqor (Correct Alternative) (Chosen Option)
(B) O Drop test
S TRe
(C) O Grounded commutator test
S8 HRICTR TIE
(D) O Open circuit test
310 Ffdhe Tigron

Question No. 10 / Question ID 241 Marks: 2.00
What is the name of the winding as shown in the figure?

ferr & feame U A e &1 7 = 82
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(A) O Mesh shaped coil winding )
Y DR B! Hed drsieil
(B) O Basket W|nd|ng
(C) O Concentric coil ng%lorlr;l::! AXQH\I)U be Cha nn el
Hhfad psa HT?{%‘T (Correct Alternative)

(D) O Diamond mesh shaped coil W|nd|ng (Chosen Option)
SHE &1 STel o HTHR D ped dlgisT (Chosen Option)

Question No. 11 / Question ID 319

What is the use of time-base control switch or knob in the CRO?
e 7 ergA-99 Held g 1 Aig BT SUINT 1 82
(A) O Select input signal voltage

$1Yc Riud diecsl &1 999 &Y
(B) O Select intensity of the beam

EIGIERICAICRE
(C) O Select sweep speed (Correct Alternative) (Chosen Option)
BT TG B (Correct Alternative) (Chosen Option)

(D) O Select input voltage range

SYC dlecdl 39 BT TG DY

Marks: 2.00

Question No. 12 / Question ID 489
Which fuel is available in plenty in India for power generation?
faoTel! IaTe & fo YR & &I 91 38 TR 461 § SUdsy g7
(A) O Diesel
Sied

(B) O Gas o
T &1 dd

Marks: 2.00




(C) O Gasoline

(D) O Coal (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 466 Marks: 2.00
Which is the function of an inverter?
Z90R BT B HI T 82
(A) O Converts D.C voltage into higher D.C voltage
D.C diees &I 3= D.C diees H Uiafdd &xal §
(B) O Converts A.C voltage into D.C voltage
A.C dIees &1 D.C dleedl | URafid &Rl §

(C) O Converts D.C voltage into A.C voltage (Correct Alternative) (Chosen Option)
D.C dlcesl &I A.C diecs A ulafdd #3d1 & (Correct Alternative) (Chosen Option)

(D) © Converts A.C voltage into highgr A.C voltage
A.C AIeedl &l I A.C diees | uRafdd Far g

Question No. 14 / Question ID 451 Marks: 2.00
What is the purpose of PROG / DATA button in BOP of AC drive?
AC BTd & BOP H PROG / DATA ¢ &1 3e=0 &1 g7

(A) O To store the entered data and show the factory stored data (Correct Alternative) (Chosen
Option)

2ol fpU T 32T B HISH B 3R ol A JUFd ST fd@™ & fAT (Correct Alternative)

(Chosen Option)

(B) O To display the direction of rotatjon forward /
s o T D AR Rabe Channel

(C) O To display the values of the frequency and current
3MgRY 3R URT & A U Rfd & & forg

(D) O To change the parameter setting

URTHIER QT Bl dae & i

Question No. 15/ Question ID 252 Marks: 2.00
What is the supply frequency of an alternator having 6 poles runs at 1000 rpm?
1000 3RUITH WR 6 Yl aTd T 3HeeIex BT YL AT o1 82
(A) O 50 Hz (Correct Alternative) (Chosen Option)
50 Hz (Correct Alternative) (Chosen Option)
(B) O 60 Hz
60 Hz
(C)O 40Hz
40 Hz

(D) O 25Hz
25 Hz

Question No. 16 / Question ID 165 Marks: 2.00
Which type of insulating material is selected for binding the coils and over hangs?

Fd 3R 3R g7 FieA & 8 [ IR ot YT anmht &1 w0 farar S g2
A) O Cottgﬁ%lgeves

(B) O Empire sleeves
THRR Wit




(C) O Terylene thread (Correct Alternative) (Chosen Option)
YT (Correct Alternative) (Chosen Option)
(D) O Fibre glass tape
B3R T <Y

Question No. 17 / Question ID 234 Marks: 2.00
How the direction of rotation of a permanent capacitor motor is to be changed?
R} GeTia Aiex & YU & G2 Y Il St 82
(A) O By interchanging the capacitor terminal

EEERKIEENERET
(B) O By interchanging the auxiliary winding terminal (Correct Alternative)
TP ars (ST fi—d B §e30ol HIP (Correct Alternative)
(C) O By changing the rotor position (Chosen Option)
dqdhr (Chosen Option)
(D) O By interchanging the supply terminal
i &t §exd

Question No. 18 / Question ID 144 Marks: 2.00
Which speed is called as synchronous speed in 3 phase induction motor?

3 Tl URUT Aiex | o 71 1 JeaphIfeidh T gl il 87
(A) O Full load speed

Bd die Wi
(B) O Rotating magnetic field speed (Correct Alternative)
YABIY &7 DI TTd DI gHTA §U (Correct Alternative)

00 S e AR LY G TUBE Channel

(D) O No load speed
[ HR A

Question No. 19 / Question ID 43 Marks: 2.00
Which are the two points that the brush contact resistance measured in D.C machines?
D.C #fHI #, 9 &1 9 < foig 8 Sl 721 Yueh UfeRly &1 AU 87
(A) O Resistance between the brush and armature

T 3R TR P §1F ufeRiY

(B) O Resistance between the opposite brushes

fomia 591 & &= ufa_iy

(C) O Resistance between the brush and brush holder
T 3R SR BIeeX & aid UfeRIY

(D) O Resistance between the brush and commutator (Correct Alternative) (Chosen Option)

T 3R WE"\' & ot uferiy (Correct Alternative) (Chosen Option)

Question No. 20 / Question ID 335 Marks: 2.00
What is the peak voltage of 220V rms AC voltage?
220V rms AC diec &1 Uid dlecsl o1 872
(A) O 315.20V
315.20V
(B) O 310.02V
310.02 V

(C) O 311.12V (Correct Alternative) (Chosen Option)
311.12 V (Correct Alternative) (Chosen Option)




(D) O 31225V
31225V

Question No. 21 / Question ID 262 Marks: 2.00
What is the voltage regulation in percentage if the load is removed from an alternator, the voltage rises
from 480V to 660V.

gfe fpdt sreexaer T a1 el faar e <l dieest 480V I 660V T ¢ SIIdT & o diees fafaHT ufasrd &
HT I
(A) O 37.5% (Correct Alternative) (Chosen Option)

37.5% (Correct Alternative) (Chosen Option)

(B) O 27.2%
27.2%
(C) O 32.5%
32.5%
(D) O 38.5%
38.5%

Question No. 22 / Question ID 459 Marks: 2.00

Which term refers that the mass of a substance liberated from an electrolyte by one coulomb of
electricity?

o Treq I AT § o forelt UeTed &1 SoadM Sadciarge ¥ U HoTd fayd gRT gad aidl 67
(A) O Electro plating

faya au=
(B) O Electro copying

C) O Electro chemlc%ﬁélltefn{“ \Aa) Alte rmﬁﬁéhgh%ﬁrﬁel

(D) O EIectronS|s
fayd srque

Question No. 23 / Question ID 388 Marks: 2.00
Which circuit breaker is installed along with wiring circuit against leakage current protection?

et Fie WICaRM I S99 g iR Afdhe & 1Y I I Jfdhe SR TIAT ST 872

(A) O ELCB (Correct Alternative) (Chosen Option)
ELCB (Correct Alternative) (Chosen Option)
(B) O OCB
OoCB
(C)O MCB
MCB
(D) O MCCB
MCCB

Question No. 24 / Question ID 180 Marks: 2.00

Calculate the percentage slip in a 3 phase induction motor having 6 poles with a frequency of 50 Hertz
running with the actual speed of 960 rpm?

50 %%ﬁ&nqﬁiar@rs ¢[al dTel 3 Urof UROT Hiex § UfcrRrd Reqd &t 701 &1 Sl 960 rpm P dRdfde Tfd 9
Bl ?
(A) O 4% (Correct Alternative) (Chosen Option)

4% (Correct Alternative) (Chosen Option)

(B) O 5%
5%




(C)O 2%
2%
(D) O 3%
3%

Question No. 25 / Question ID 403 Marks: 2.00

What is the purpose of control transformer used in the control panel wiring?

Held U T | IUGNT fht STH aTd el CraBRR &1 3539 31 87

(A) O To maintain the constant supply voltage
R 3mgfd aiee™ s 3@ & o

(B) O To supply the power circuits
faed Tfdre 1 3MYfdd & forg

(C) O To supply the power to the auxiliary circuits (Correct Alternative) (Chosen Option)
TP Aibe P foaore ot Gﬂ'l]:ﬁ 31 & fow (Correct Alternative) (Chosen Option)

(D) O To supply the power to the motor circuits
Hiex Afhe ®I faerd! dt Syfd @ & oy

Question No. 26 / Question ID 71 Marks: 2.00
What is the formula to calculate the back EMF in a DC motor?
DC Hiex # 9% EMF &1 TUHT & I BIHaT 31 572

(A) O
= ZNP

© T 9 B0A
_ZNP
? 960A —
®) O —vplobal iTi YouTube Channel
Et:u = ’ (Correct Alternative) (Chosen Option)
60 A
b= @ ZNP (Correct Alternative) (Chosen Option)
60 A
© 0O 60 A
Eb —
ZNP
_60Ag
®7 ZNP
(D)O NP
Et} =
Zp60A
g - NP
Zo60A
Question No. 27 / Question ID 5 Marks: 2.00

What is the name of the part marked ‘X’ in DC generator as shown in the figure?

fom ¥ feaTe 3FER DC SMReR # ‘X ¥ Rifgd U &1 1 1 82




(C) O Pole coil
Hd psch
(D) O Pole shoe (Correct Alternative) (Chosen Option)
¥ (Correct Alternative) (Chosen Option)

Question No. 28 / Question ID 450 Marks: 2.00

Which is the correct sequence operation of key button in BOP of AC drive to change the direction of
rotation?

AT B =M I&a & T AC S18d & BOP T Grolt dc I Tg! SIshH TR B AT 82
(A) O Press OFF - ON — REV
Press OFF - ON — REV

(B) O Press ON —- REV — OFF — ON
Press ON — REV — OFF — ON

@0 s on~ravat@al iTi YouTube Channel

(D) O Press ON — OFF — REV — ON (Correct Alternative) (Chosen Option)
Press ON — OFF — REV — ON (Correct Alternative) (Chosen Option)

Question No. 29 / Question ID 3 Marks: 2.00
Which rule is used to find the direction of induced emf in D.C generator?
D.C SRex § URA STATT &1 =1 I1d & & for [ Fam &1 IuinT fopan S g2
(A) O Right hand palm rule
e BT 3 g 1w
(B) O Fleming’s right hand rule (Correct Alternative) (Chosen Option)
TRATRT & gIfge) 814 &1 999 (Correct Alternative) (Chosen Option)
(C) O Cork screw rule
Hidb &p w0
(D) O Fleming’s left hand rule
TR o ST BTy 1 e

Question No. 30 / Question ID 97 Marks: 2.00
Which type of test is illustrated for the armature after rewound?

Ufaey & F1¢ MR & e foog ueR &1 witeror fafAd fosar mar g2




EL2CADAT

EL2CAD1T

(A) O Grounded coil test
1SS DIz UG
(B) O Shorted coil test (Correct Alternative) (Chosen Option)
§’_6FI t&for (Correct Alternative) (Chosen Option)
(C) O Open caoil test
Pl TRiEm

(D) O Voltage drop test

diecsl SIU TR0

Question No. 31/ Question ID 14
What is the name of the part of DC generator as shown in the figure?

o 7 T 7T DC S ReX & HIT BT 11 T 872

Marks: 2.00




LEF .
LEF .

(A) O Pole shoe lamination
PIGEIGIEERE
(B) O Armature core lamination (Correct Alternative) (Chosen Option)
MR ®R AftATE (Correct Alternative) (Chosen Option)
(C) O Commutator segment
s
(D) O Side end plates
138 U8 Wicy

Question No. 32 / Question ID 93 Marks: 2.00
Which speed control method is used in food mixture motors?
aTe o Hicd | fooe i ford=on fafy o1 ot fosan Siman g2
(A) O Series field tapping method (Correct Alternative) (Chosen Option)
%E?IT & eftir fafr (Correct Alternative) (Chosen Option)
(B) O Field diverter control method
Hics SHacR o fafy
(C) O Voltage control method

e e RS obal iTi YouTube Channel

(D) O Armature diverter me
Sacy fafy

Question No. 33 / Question ID 320 Marks: 2.00
What is the characteristic property of base material in a transistor?
TS giforex o YR ATt &7 =i 1707 &1 82
(A) O Heavily doped and very thin
3R 9gd gdar
(B) O Lightly doped and very thin (Correct Alternative) (Chosen Option)
g d S fopar gl MR dgd UddT (Correct Alternative) (Chosen Option)
(C) O Lightly doped and very larger
g U S fHar garm 3k 9gd a1
(D) O Heavily doped and very larger
3R §gd 7T

Question No. 34 / Question ID 380 Marks: 2.00
What is the purpose of thermal over load relay in control panel?
=0 ue & yHd 3R dis R &1 3520 R 872
(A) O Switching ON/OFF the circuit
qfdhe PI ATe/ §G HRAT
(B) O Protect the motor from over loading (Correct Alternative) (Chosen Option)
P 3MaR AT A §dT¢ (Correct Alternative) (Chosen Option)
(C) O Protect the circuit from earth fault

QY Y Hidhe BT M P




(D) O Control the circuit based on time delay

IJAY I < & 3MYR W Ffhe P afHa o3

Question No. 35/ Question ID 264
What is the name of the converter as shown in the figure?

2 # famy 1T ek &1 1 /1 82
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(A) O Motor-Generator set
HICI-SRR I
(B) O Mercury arc rectifier
TRER! 3T BRI
(C) O Rotary converter (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Metal rectifier

urd

Marks: 2.00

Question No. 36 / Question ID 149
What is the name of the starter symbol as shown in the figure?

o fob o o fezaman T 8, Wik Udie &1 =19 o1 872

Marks: 2.00

A A




(A) O Star delta starter (Correct Alternative) (Chosen Option)
TR Sl WIex (Correct Alternative) (Chosen Option)
(B) O Rheostatic starter
IERfCH WR
(C) O Autotransformer starter
TCICIIh AR XeR
(D) O Direct on-line starter
Y& 3T 1S T

Question No. 37 / Question ID 134
What is the formula to find synchronous speed of a A.C 3 phase induction motor?

T Xt 3 a1 ORI AR BT JeddBIIeIdh T T DR BT G T 82
(A) O 120

Synchronous speed= —
PF
120

Synchronous speed= —
PF

B) O 120P

Synchronous speed= ——
F

120F
Synchronous speed= ——
F

(C)O

120F .
Synchronousspeed= —— | (Correct Alternative) (Chosen Option)
P

120F
Synchronousspeed= —— | (CorrectAltecnative) (Chosen Option)
lobal 111 You Tube ‘Channel

PF
Synchronous speed= P

m)

(D) O

Synchronous speed= il
120

Marks: 2.00

Question No. 38 / Question ID 205
Which type of starter is used for 3 phase slip ring induction motor?
3 Trol AU SSRM HIer & T [ UHR & IR HT ITINT T o1l g7
(A) O Rotor resistance starter (Correct Alternative)
e ufeRIY W (Correct Alternative)
(B) O Star - Delta starter
TR - Seel WeR
(C) O Direct on line starter
STRTE 3 AR WeR
(D) O Auto transformer starter (Chosen Option)
3{fel TRBTHR WIER (Chosen Option)

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 519
Which is used to reduce the friction in machine parts?
TR UIT H ON01 T HH HRA & (o fhadm! IuanT foar Srn 87
(A) O Kerosene
forgl &1 aa

Marks: 2.00




(B) O Petrol
BN
(C) O Water

(D) O Lubricants (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 520 Marks: 2.00
What is the value of 14x+3y+25x+2y?
14x +3y+25x+2y &1 A &1 g2
(A) O 44xy
44xy
(B) O 39x + 5y (Correct Alternative) (Chosen Option)
39x + 5y (Correct Alternative) (Chosen Option)
(C) O 17x+ 27y
17x + 27y
(D) O 16x + 28y
16x + 28y

Question No. 3 / Question ID 529 Marks: 2.00
What is the expanded form of S.P?
a4 (S.P) &1 fawga U &1 87
(A) O Selected Price
Selected Price

(B) O Selling Price (Correct Alternative) (Chosen Option)

ooimg Pree CGERETTTY Yot TUte Channel

(C) O Super Price
Super Price

(D) O Special Price
Special Price

Question No. 4 / Question ID 525 Marks: 2.00
What is the value of a x a% x a3 x a* ?
a x a2 xa3xa4WII'F[?f€IT%?
(A) O a® (Chosen Option)
ad (Chosen Option)
(B) O

10 (Correct Alternative)

a
a

(C) O a'%(Correct Alternative)
a
D) O a
a

Question No. 5/ Question ID 526 Marks: 2.00
Which type of stress?

HIH-1 ufaad 82




(I
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(A) O Tensile stress
d-rd

Bro prnasresGlobal iTi YouTube Channel

(C) O Compressive stress

(D) O Shear stress (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 532 Marks: 2.00

How the years is denoted in simple interest calculations?

HIYRUT ST H T BT S ST STl 872
A)O r

r

B)O P
P

(C) O n (Correct Alternative) (Chosen Option)
n (Correct Alternative) (Chosen Option)

(D) O :

3) ENGINEERING DRAWING

Question No. 1/ Question ID 552 Marks: 2.00

Which is the NOT gate in the following picture?

g R A NOT e B a1 82




(A) O

(B) O

(€) O

(D) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Question No.2/Que£émal | I I YOU I UDe Channel

Choose the symbol for main fuse board without switches (P).

fom R (P) & Hr gl oS o ferg fars g |
(A) O

Marks: 2.00




(B) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(€)O

(D) O

YouTube Channel

Question No. 3 / Question ID 543 Marks: 2.00
Which is photo diode?
Icl SIS B AT 82




(A) O

(B) O

(€)O

(D) O

(Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)




Question No. 4 / Question ID 549 Marks: 2.00
Identify the symbol used for microphone (general) in electrical and electronic circuits.

gafdedmd 3R A Fidhe H ATSHIhH (AHHT) & A ITART 6T o1 ardl Ui &1 uga & |
(A) O

(B) O

aliTi YouTube Channel

(€) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
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Question No. 5/ Question ID 550
Identify the symbol for direct and alternating current.

& 3R TATde hc & [T Ui bl Uga HY
(A) O

(B) O

(C)O

(Chosen Option)

(Chosen Option)

(D) O

(Correct Alternative)

(Correct Alternative)

| iTi YouTube Channel

Marks: 2.00

Question No. 6 / Question ID 551

Marks: 2.00




Which is the single pole MCB?
T Ui MCB ®19 |1 872

(A) O

(B) O

| YouTube Channel




(€)O

aliTi YouTube Channel




(D) O

(Correct Alternative) (Chosen Option)

Global iTi YouTube Channel

(Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

A resume should be

Question No. 1/ Question ID 694

CIRIE ] HEIEIRY

Marks: 2.00




(A) O having acronyms and abbreviation
UhMH SR Srsfdit=e g
(B) O having long and detailed information
el 3R fawgd SR 81
(C) O bold and colourful
TS 3R T
(D) O short and precise (Correct Alternative) (Chosen Option)
oy 3R gt (Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 717 Marks: 2.00
The reason to reply to comments on your YouTube videos is
Y YouTube ST TR HHTH BT ITR G B HRUI
(A) O so viewers feel connected (Correct Alternative) (Chosen Option)
o a=fe Y[STd HeqqdH Gy (Correct Alternative) (Chosen Option)
(B) O to get more friends
3{feyeh T2 UTed h o ferw
(C) O to get more videos
31fere fifgar e e & feg

(D) O to use the internet
$CIAC BT IUUNT A & oy

Question No. 3 / Question ID 562 Marks: 2.00
Punctuality means

Wﬁqﬁm"rmaﬂf

~ S STOANIIY VOIS Channe

(B) O politeness

(C) O informal
BRI

(D) O done by punching machine
ufeT =i g foran R §

Question No. 4 / Question ID 647 Marks: 2.00
What is the benefit of self-employment?
TRISHR &7 aTH 572
(A) O Monthly salary payment
RS ad YT
(B) O Fixed working hours
D & [fgd de
(C) O Directly earning from your work (Correct Alternative)
3 HTH F e HHTS (Correct Alternative)
(D) O Limited control over your tasks (Chosen Option)

3% S R fAfes deld (Chosen Option)

Question No. 5/ Question ID 739 Marks: 2.00
Making a good choice means

o oSl fdpca g oy




(A) O Not looking

(B) O Looking closely, then deciding (Correct Alternative) (Chosen Option)
CIRCA K] %@F-IT, b= fof s (Correct Alternative) (Chosen Option)
(C) O Deciding quickly
RIEGIES

fofg o=
(D) O Talking a lot
Gd ST DAl
Question No. 6 / Question ID 795 Marks: 2.00
The activity of setting up a business or businesses, taking on financial risk in the hope of profit is called
foh il STqHTg T AT ! R DA, TH DT =N H o<l SiReH I o1 icifafey Hi &l

T 8
(A) O Bank manager
% BFoR

(B) O Entrepreneurship (Correct Alternative) (Chosen Option)
' (Correct Alternative) (Chosen Option)

(C) O Merchant
e

(D) O Sales executive

Question No. 7 / Question ID 667 Marks: 2.00

e 4 o wataongl 111 YouTube Channel

(A) O Not separating recycle waste
RIS dHeR 1 3T Tl Bl

(B) O Using high power air conditioners
TS OT6R aTel TR $HaIRFR &1 START H=AT

(C) O Grow plants wherever possible (Correct Alternative) (Chosen Option)
gl Y JHT 8 T IIHT (Correct Alternative) (Chosen Option)

(D) O Not using plastic containers
WIREH o DR DI IGAN gl BT

Question No. 8 / Question ID 676 Marks: 2.00
Which one is a search engine?
T S5 HH A 82
(A) O Google (Correct Alternative) (Chosen Option)
T[T (Correct Alternative) (Chosen Option)
(B) O Hotmail
glchd

(C) O Flicker
IPSER

(D) O Face book

Question No. 9 / Question ID 664 Marks: 2.00
Green practice means

Mg T ot g




(B) O
(€) O

(D) O

leaving lights and fans on when leaving a room.

B I FeR Adhad I d1ge 3R U are 3@

buying single-use plastic water bottles.

RITA-go WIRe® B U Bt A WRIG

buying unnecessary items.

HATdRY D d%gk @NIC'("II

carrying a cloth bag to buy groceries. (Correct Alternative) (Chosen Option)

P &1 I WA & T HUS BT I A ST (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 558 Marks: 2.00
Campus recruitment is conducted at

Fogudl  HemiRaeiedie |

(A) O
(B) O
C)O

(D) O

|n a company (Chosen Option)
| (Chosen Option)

ITI (Correct Alternative)
ITI (Correct Alternative)

capital city of the state
T & AT H

on line

NIERIEG]

Question No. 11 / Question ID 567 Marks: 2.00
When you start a discussion on a topic, what do you say?

oTe 3G foreht fawer R =l SRy X § al 3 11 $ed &2

A Let us discuss rre hos
MO et R COUTHE Channel
(B) O Letyou start
33T =
(C) O Let us finish
31U TH DY
(D) O Let me say
TS Fe Aol
Question No. 12 / Question ID 788 Marks: 2.00
registration would help to access the schemes introduced by the Government.
GOl U] ¥ TRBR GRT IRE &1 T3 A1 d% Ugd a1 § Aag o |
(A) O Pan card
0 BTs
(B) O TIN
TIN
(C) O Udyog Aadhaar (Correct Alternative) (Chosen Option)
STYIR (Correct Alternative) (Chosen Option)
(D) O GST
GST
Question No. 13 / Question ID 751 Marks: 2.00

Which of the following best describes the self-management skill of reliability?

fofifad 7 @ o1 fayg-tadr & Ak Anviic e d o1 9ad 31 aui- Bl 872

(A) O Not being honest with colleagues
| & 1Y SHMER - -]




(B) O Ignoring the needs of others
TR DI TRl B ARSI HRAT
(C) O People always trust you to do your job well (Correct Alternative) (Chosen Option)

3TY TR HRIHT HId & O 3ATT 3T HTH 33 a8 | B (Correct Alternative)
(Chosen Option)

(D) O Not completing tasks on time
T W ST R 81 BT

Question No. 14 / Question ID 597 Marks: 2.00
After preparing the resume, the next important step to do is
JIR A & &S STl Hg@yul HeH §
(A) O applying for the job.
& foIT sffaa BT
(B) O preparing for interview.
HIETDHR DI AR BAT
(C) O writing an impressive cover letter. (Correct Alternative) (Chosen Option)
Udh YHTGRITE! Hax dex fora=n (Correct Alternative) (Chosen Option)
(D) O sending the resume to the employer.
HAYR Col| quISICI o

Question No. 15/ Question ID 780 Marks: 2.00
A person who is associated with the starting of a business is called
98 i ol fpdl U B LI AJSIEINe I Pelodig

(A) O Entrepreneur (Correct Alternative) (Chosen Option)

It (C t ive) pti

B) O Businesscr)r:;enc %elro - I( IhTseV on)-I-Ube Channel
CICRIK

(C) O Sales Executive

(D) O Merchant

Question No. 16 / Question ID 677 Marks: 2.00
Which one is a social networking site?
IS AeafdhT Arse B I 62
(A) O Face book (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(B) O Outlook express

33T TR
(C) O Lotus notes

N

(D) O Mozilla

Question No. 17 / Question ID 654 Marks: 2.00
If you want to work in a foreign country, to migrate safely, you have to
gfe 3y faer & S A1 ATed §, af YRI&d Uary & fog smue |

(A) O Think how you spend your money.

3{TUHT TT U1 HY T BT AMRT




(B) O Leave to foreign country without informing anyone.
IEEERICICEIN CENIEN SIS ISIHY

(C) O Learn about the place, confirm the job before moving. (Correct Alternative) (Chosen
Option)

3T Elﬁ I tl?ﬁ Olilg & IR § S AT 3R Ap) ugst B AT ilTi%T{ (Correct Alternative)
(Chosen Option)

(D) O Move and ask for confirmation.

31T ST 3R g & fore g anfge

Question No. 18 / Question ID 613 Marks: 2.00
Which of the following actions in a official meeting show appropriate workplace etiquette?
foalt aiifthRraa Hife # fgfafed & § oF 91 o1 sriwd W 3iud RITER axifdr g2
(A) O Chatting with coworkers
DI-gHd & 1Y A HIAT

(B) O Keeping the phone on silent mode and actively participate in the discussion (Correct
Alternative) (Chosen Option)

BIH P IIgdic HIS UR TG 3R f3The § Afthy U | HFT AT (Correct Alternative)
(Chosen Option)

(C) © Checking phone and respond to messages
B DI g HIAT 3R T BT IR &A1

(D) O Interrupt the speaker in meeting

Hifdn & Wi &I &9 J Jh1

Question No. 19 / Question ID 737 Marks: 2.00
skills, such as commitment, reliability, adaptability and flexibility

— ok, R e i FERY 59 TRETC hannel

(A) O Business
[ESER|
(B) O Self management (Correct Alternative)
JeP AASHT (Correct Alternative)
(C) O Team work (Chosen Option)
IH (Chosen Option)
(D) O Education

Question No. 20 / Question ID 756 Marks: 2.00
While working with a team, if we notice a co-worker struggling with their workload, what should we do?
TH S & 1Y HIH Hd 94, Tie §H [l GehH I U HIH & aigl I e1d §U Gd 6, < 89 o1 AT
ElIRY
(A) O Offer to help them with their tasks. (Correct Alternative) (Chosen Option)

F 3% BT A HeE B P ﬁ'E 3THR BT ET%'E (Correct Alternative) (Chosen Option)
(B) O Laugh at their inability to manage their workload.
304 HRIUR B B I B 301 AT IR 591 AT
(C) O Ignore their struggles and focus on your own work.
TNl IR & 71 ¢ 3R 30 HTH W &AM bicd AT AT

(D) O Report their struggles to the supervisor.
YURATESR Bl b Ju| b1 RUIE BT A11RTY

Question No. 21 / Question ID 685 Marks: 2.00




Which wireless technology standard used for exchanging data between fixed and mobile devices over
short distance?

HH I R R 3R Az d f$arzq & dia 3¢ &1 MeM-UaH B & AT fq arRey deb-1d A &
ST fara T 57
(A) O Bluetooth (Correct Alternative) (Chosen Option)
&Y (Correct Alternative) (Chosen Option)
(B) O CD/DVD
CD/DVD
(C) O Pendrive
U 315
(D) O Router
RHX

Question No. 22 / Question ID 640 Marks: 2.00
When a person joined a new company, he may be nervous using digital tablets provided at work. That
time he shall

e IS ufad fopalt IS Ut & Qe il §, ﬁagmammww%m%aézmw
HH T YR bl g | 39 IHY I8
(A) O Complain to his manager.

AIoR ¥ FRreerad B

(B) O Keep an open mind and ask his coworkers to teach him. (Correct Alternative) (Chosen
Option)
ST fEHTT AT I B 3R 30 Hladhd & 39 Ra™ & fIT 80 (Correct Alternative)
(Chosen Option)

) O th his JOb

(D) O Ask his cowor?ﬁl@gﬁ d-[;‘aMcQ(u-I-Ube Channel
&mﬁaﬁaﬁﬁmﬁmmaﬂﬁaﬁm

Question No. 23 / Question ID 559 Marks: 2.00
In your resume, which information has less importance?
3P FrAISTel H I W BRI HH Hed 39 872
(A) O Experience
3JHd
(B) O Skill training completed
R g HIRI UFRIeqor
(C) O AQualification

(D) O Expected salary (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 736 Marks: 2.00
is when a group of people work together to finish something.
9 BId1 § S1d A1l T Uh HE ford! Tiiel o1 QRT = & o Ueh 1Y HTH Rl g |
(A) O Business
gqqyryg
(B) O Experience
3JHd
(C) O Team work (Correct Alternative) (Chosen Option)
p kg (Correct Alternative) (Chosen Option)




(D) O Education
e

Question No. 25 / Question ID 757 Marks: 2.00
Which of the following is a good work habit?
frafifea & ¥ 19 9 s oo efee 82
(A) O Not following workplace rules
Tl &1 UTer 9 &=l
(B) O Getting tensed when work is challenging
ST AUl §H TR THIGIR g1 o]
(C) O Not giving up when something goes wrong (Correct Alternative) (Chosen Option)
PO Tdd 81 W R T8l AT (Correct Alternative) (Chosen Option)
(D) O Choosing easy tasks
ST BT BT T BT

Global iTi YouTube Channel




